



(الف)

$$K = \text{فصل}$$

—

→

الف

—

$a =$

7

$\hat{\beta}_+$

$\hat{A} + \hat{B}$

$\hat{R}_i$

$\hat{c} = 1$

$$\frac{\tan(\pi - \alpha) + r \tan(\pi + \alpha)}{\tan(r\pi - \alpha) - \tan(r\pi + \alpha)} = \frac{-\tan \alpha + r \tan \alpha}{-\tan \alpha - \tan \alpha} = \frac{r \tan \alpha}{-r \tan \alpha} = \frac{r}{-r} = \boxed{-1}$$

$$\frac{D}{110} = \frac{r \alpha}{\pi} \rightarrow \frac{D}{110} = \frac{\frac{\pi}{180}}{\pi} \rightarrow D = \frac{110 \times \frac{\pi}{180}}{\pi} = 10^\circ \rightarrow D = 10^\circ \rightarrow \tan 10^\circ = \frac{a}{r}$$

$$\rightarrow \cot 10^\circ = \frac{r}{a}$$

$$\frac{r \tan(\frac{\pi}{2} - 10^\circ) + \tan(\frac{\pi}{2} + 10^\circ)}{r \tan(\pi - 10^\circ) - \tan(\frac{r\pi}{r} - 10^\circ)} = \frac{r \cot 10^\circ - \cot 10^\circ}{-r \tan 10^\circ - \cot 10^\circ} = \frac{\frac{r}{a} - \frac{1}{a}}{-ra - \frac{1}{a}} = \frac{\frac{1}{a}}{-ra - \frac{1}{a}} = \frac{1}{-ra^2 - 1}$$

$$\rightarrow \boxed{\frac{-1}{ra^2 + 1}}$$

$$\frac{\sin x + \cos x}{\sin x - \cos x} + \frac{\sin x - \cos x}{\sin x + \cos x} = r \rightarrow \frac{(\sin x + \cos x)^2 + (\sin x - \cos x)^2}{(\sin x - \cos x)(\sin x + \cos x)} = r$$

$$\rightarrow \frac{\sin^2 x + \cos^2 x + r \cos x \sin x + \sin^2 x + \cos^2 x - r \sin x \cos x}{\sin^2 x - \cos^2 x} = r \rightarrow \frac{r \sin^2 x + \cos^2 x}{\sin^2 x - \cos^2 x} = r$$

$$\sin^2 x + \cos^2 x = 1 \rightarrow \frac{r(\sin^2 x + \cos^2 x)}{\sin^2 x - \cos^2 x} = r \rightarrow \frac{r}{\sin^2 x - \cos^2 x} = r \rightarrow \left\{ \begin{array}{l} \sin^2 x - \cos^2 x = \frac{r}{r} \\ \sin^2 x + \cos^2 x = 1 \end{array} \right\}$$

$$r \sin^2 x = \frac{r}{r} \rightarrow \sin^2 x = \frac{1}{r} \rightarrow \cos^2 x = \frac{1}{r} \rightarrow \tan^2 x = \frac{\sin^2 x}{\cos^2 x} = \frac{\frac{1}{r}}{\frac{1}{r}} = \frac{1}{r} \times r = \boxed{1}$$

$$\frac{\sin^2 x + 1 - \cos^2 x}{\sin^2 x + \cos^2 x - \cos^2 x} = r \rightarrow \frac{\sin^2 x + \sin^2 x - \cos^2 x}{1 + \cos^2 x - 1} = r \rightarrow \frac{r \sin^2 x - \cos^2 x}{\cos^2 x} = r$$

$$\Rightarrow r \cos^2 x = r \sin^2 x - \cos^2 x \rightarrow \frac{r \cos^2 x}{r} = r \sin^2 x \rightarrow \frac{\sin^2 x}{\cos^2 x} = \frac{1}{r} = \frac{1}{r}$$

$$\rightarrow \tan^2 x = \boxed{\frac{1}{r}} \rightarrow \tan x = \boxed{\frac{1}{r}}$$

$$a) \cos^2 \alpha = \frac{1 + \cos r \alpha}{r} \rightarrow \cos^2 r \alpha = \frac{1 + \cos r \alpha}{r} \rightarrow \cos^2 r \alpha = \frac{1 + \frac{\sqrt{r}}{r}}{r}$$

$$\rightarrow \cos^2 r \alpha = \sqrt{\frac{r + \sqrt{r}}{r}} \rightarrow \cos^2 r \alpha = \sqrt{\frac{r + \sqrt{r}}{r}} \rightarrow \cos r \alpha = \boxed{\sqrt{\frac{r + \sqrt{r}}{r}}}$$

$$b) \sin^2 \alpha = \frac{1 - \cos r \alpha}{r} \rightarrow \sin^2 r \alpha = \frac{1 - \cos r \alpha}{r} \rightarrow \sin^2 r \alpha = \frac{1 - (-\frac{\sqrt{r}}{r})}{r}$$

$$\rightarrow \sin^2 r \alpha = \frac{1 + \frac{\sqrt{r}}{r}}{r} \rightarrow \sin^2 r \alpha = \frac{r + \sqrt{r}}{r} \rightarrow \sin r \alpha = \boxed{\sqrt{\frac{r + \sqrt{r}}{r}}}$$